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m/s 1 K K W/m?K 1 Pa Pa 1
1 497. 6071785 310. 08 16.93 17720. 02 7.383343 1005. 888 1005. 888 0. 335901
0.5 248. 8035892 314. 1903 21. 0403 14258. 35 5. 94098 326. 642 326. 642 0. 436308
0.2 99. 52143569 321. 7448 28. 5948 10491. 42 4.371424 105. 8797 105. 8797 0. 883922
0.1 49.76071785 328. 9364 35. 7864 8383. 073 3. 492947 51. 36752 51. 36752 1. 715338
0.05 24. 88035892 337.0016 43.85161 6841. 254 2. 850522 7.741911 7.741911 1. 034116
0.02 9. 952143569 359.9121 66. 7621 4493. 567 1.87232 9. 000497 9. 000497 7.513939
0.01 4.976071785 388. 0416 94. 8916 3161. 502 1.317293 4. 444201 4. 444201 14. 84072
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contour-1
Static: Temperature
52e+02

S N SN SN O NS SO O N N O

2
3
3
3
3
3
36
3.6
38
35
&5
3.4
3.4
34
33
33
B2
3.25e+02
3.219+02
3.17e+02
3.13e+02
3.099+02
3.05e+02
3.07e+02
2.97e+02
2.939+02
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iter continuity x-velocity y-velocity energy time/iter
10 1.0855e-02 2.4107e-03 4.3723e-04 3.2997e-08 0:01:27 190
20 4.1750e-03 1.1840e-03 3.2573e-04 3.1154e-08 0:01:21 180
30 2.5880e-03 7.8087e-04 2.6455e-04 3.0817e-08 0:01:18 170
40 1.9503e-03 5.8687e-04 2.2693e-04 2.9438e-08 0:01:15 160
50 1.6050e-03 4.7700e-04 2.0098e-04 2.9389e-08 0:01:08 150
60 1.2912e-03 4.0842e-04 1.8071e-04 2.9891e-08 0:01:02 140
70 1.0730e-03 3.5912e-04 1.6410e-04 2.9618e-08 0:00:59 130

! 80 solution is converged

80 8.8627e-04 3.2168e-04 1.5002e-04 2.8931e-08 0:00:53 120

Calculation complete.

Area-Weighted Average

Static Temperature (k)
solidwall 380.24466
fluidwall 391.38318

Net 388.04162




Area-Weighted Average

Static Pressure (pascal)

in 4.444201
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